



St. Louis County, Minnesota

Date of Report: 5/17/2025 10:11:47 PM

General Details

 Parcel ID:
 380-0010-03660

 Document:
 Abstract - 01491826

Document Date: 07/11/2024

Legal Description Details

Plat Name: GRAND LAKE

SectionTownshipRangeLotBlock185116--

Description: NE 1/4 OF NE 1/4

Taxpayer Details

Taxpayer NameFOUCAULT AUDREYand Address:6922 CARLSON RDSAGINAW MN 55779

Owner Details

Owner NameFOUCAULT ROBIN JOwner NameFOUCAULT VIRGINIA AOwner NameFOUCAULT WAYNE AOwner NameJONES VIRGINIA A

Payable 2025 Tax Summary

2025 - Net Tax \$2,681.00 2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$2,710.00

Current Tax Due (as of 5/16/2025)

Due May 15		Due November 15	5	Total Due		
2025 - 1st Half Tax	\$1,355.00	2025 - 2nd Half Tax	\$1,355.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,355.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,355.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$1,355.00	2025 - Total Due	\$1,355.00	

Parcel Details

Property Address: 6922 CARLSON RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: FOUCAULT, AUDREY

		Assessme	nt Details (20	25 Payable 2	2026)		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
101	1 - Owner Homestead (100.00% total)	\$176,800	\$275,400	\$452,200	\$0	\$0	-
	Total:	\$176,800	\$275,400	\$452,200	\$0	\$0	3249





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:11:47 PM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

Lot Depth:	0.00								
The dimensions shown are n	ot guaranteed to be s	urvey quality.	Additional lo	t information can be	e found at				
https://apps.stlouiscountymn	.gov/webPlatsIframe/f				ions, please email PropertyTa	ax@stlouiscountymn.gov.			
		-		Details (HOUSE	•				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1988	1,0		1,056	ECO Quality / 760 Ft ²	ECO Quality / 760 Ft ² SE - SPLT ENTRY			
Segment	Story	Width	Length	n Area	Foundati	on			
BAS	1	8	24	192	FOUNDAT	TION			
BAS	1	24	36	864	BASEME	NT			
DK	1	8	16	128	POST ON GR	ROUND			
Bath Count	Bedroom Co	unt	Room	Count	Fireplace Count	HVAC			
1.75 BATHS	3 BEDROOM	/IS	-		0	CENTRAL, ELECTRIC			
		Improven	nent 2 De	etails (AG 24X3	60)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1988	72	0	720	-	ATTACHED			
Segment	Story	Width	Length	n Area	Foundati	on			
BAS	1	24	30	720	FOUNDAT	ION			
		Improver	nent 3 De	etails (PB 43X7	(3)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	1975	3,13	39	3,139	-	• •			
Segment	Story	Width	Length	n Area	Foundati	on			
BAS	1	43	73	3,139	FLOATING	SLAB			
		Improver	nent 4 De	etails (PB 36X5	4)				
Improvement Type	Year Built	Main Flo		Gross Area Ft 2	Basement Finish	Style Code & Desc.			
POLE BUILDING	1986	1,94		1,944	-	-			
Segment	Story	Width	Length		Foundati	on			
BAS	1	36	54	1.944	FLOATING				
2,10	·			7-		<u> </u>			
Improvement 5 Details (PB 36X46)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	1985	1,6		1,656	-	-			
Segment	Story	Width	Length		Foundati				
BAS	1	36	46	1,656	POST ON GR	ROUND			





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:11:47 PM

		Improvem	ent 6 Details	s (BARN 60X64)			
Improvement Type	e Year Built	-		ross Area Ft ²		nt Finish	Style	e Code & Desc.
BARN	1920	3,8	40	3,840	-	-		-
Segmen	nt Story	y Width	Length	Area		Founda	ation	
BAS	1	60	64	3,840		POST ON G	GROUND	
LT	1	12	52	624		POST ON G	ROUND	
		Improve	ment 7 Detai	ils (PB 52X64)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gre	ross Area Ft ²	Basemei	nt Finish	Style	e Code & Desc.
POLE BUILDING	0	3,3	28	3,328	-	-		-
Segmen	nt Stor	y Width	Length	Area		Founda	ation	
BAS	1	52	64	3,328		POST ON G	GROUND	
		Improve	ment 8 Detai	ils (ST 16X16)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gre	ross Area Ft ²	Basemei	nt Finish	Style	e Code & Desc.
STORAGE BUILDIN	G 1985	25	6	256	-	-		-
Segmen	nt Stor	y Width	Length	Area		Founda	ation	
BAS	1	16	16	256		POST ON G	GROUND	
		Impro	vement 9 De	etails (ST)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gre	ross Area Ft ²	Basemei	nt Finish	Style	e Code & Desc.
STORAGE BUILDIN	G 0	16	8	168	-	-		-
Segmen	nt Stor	y Width	Length	Area		Founda	ation	
22901					POST ON GROUND			
BAS	1	12	14	168		POST ON C	GROUND	
		Sales Reported	to the St. Lo	ouis County A		POST ON G	GROUND	
BAS		Sales Reported		ouis County A		POST ON G	GROUND	
BAS		Sales Reported	to the St. Lo	ouis County A	uditor	Def Land EMV	Def Bldg EMV	Net Tax Capacity
No Sales informat	tion reported. Class Code	Sales Reported A	to the St. Lossessment F	ouis County A History Tota EMV	uditor	Def Land	Def Bldg	
No Sales informat	class Code (Legend)	Sales Reported As Land EMV	to the St. Lossessment F	Ouis County A History Tota EMV 0 \$457,6	uditor	Def Land EMV	Def Bldg EMV	
No Sales informat Year 2024 Payable 2025	Class Code (Legend)	Sales Reported A: Land EMV \$176,800	to the St. Lossessment F	Ouis County A History Tota EMV 0 \$457,6	uditor	Def Land EMV	Def Bldg EMV \$0	Capacity -
No Sales informat	Class Code (Legend)	Land EMV \$176,800	ssessment F Bldg EMV \$280,800	Ouis County A History Tota EMV 00 \$457,6 00 \$457,6 00 \$346,2	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0	Def Bldg EMV \$0 \$0	Capacity -
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 101 Total	Land EMV \$176,800 \$135,500	to the St. Lossessment F Bldg EMV \$280,800 \$280,800	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0	Def Bldg EMV \$0 \$0	3,301.00
No Sales informat Year 2024 Payable 2025	Class Code (Legend) 101 Total 101 Total	As Land EMV \$176,800 \$135,500 \$135,500	to the St. Lossessment F Bldg EMV \$280,800 \$210,700	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2 00 \$294,0	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0	- 3,301.00 - 2,481.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 101 Total 101 Total 101	Land EMV \$176,800 \$135,500 \$135,500 \$75,100	to the St. Lossessment F Bldg EMV \$280,800 \$210,700 \$210,700 \$218,900	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2 00 \$294,0 00 \$294,0	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0	3,301.00 - 2,481.00
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 101 Total 101 Total 101 Total	As Land EMV \$176,800 \$135,500 \$75,100 \$75,100	to the St. Lossessment F Bldg EMV \$280,800 \$210,700 \$210,700 \$218,900	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2 00 \$294,0 00 \$295,0	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0	3,301.00 - 2,481.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 101 Total 101 Total 101 Total 101	Land EMV \$176,800 \$135,500 \$75,100 \$69,500 \$69,500	to the St. Lossessment F Bldg EMV \$280,800 \$210,700 \$210,700 \$218,900 \$185,500	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2 00 \$294,0 00 \$295,0 00 \$255,0	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 3,301.00 - 2,481.00 - 2,155.00 -
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 101 Total 101 Total 101 Total 101	Land EMV \$176,800 \$135,500 \$75,100 \$69,500 \$69,500	to the St. Lossessment F Bldg EMV \$280,800 \$210,700 \$210,700 \$218,900 \$185,500	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2 00 \$294,0 00 \$255,0 00 \$255,0 istory &	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 3,301.00 - 2,481.00 - 2,155.00 -
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Class Code (Legend) 101 Total 101 Total 101 Total 101 Total	Land EMV \$176,800 \$135,500 \$75,100 \$69,500 \$69,500	### Total Tax & Special	Ouis County A History Tota EMV 00 \$457,6 00 \$346,2 00 \$346,2 00 \$294,0 00 \$255,0 istory & nts Taxable La	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 3,301.00 - 2,481.00 - 2,155.00 - 1,810.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Class Code (Legend) 101 Total 101 Total 101 Total 101 Total	Land EMV \$176,800 \$135,500 \$75,100 \$69,500 \$69,500 \$Special Assessments	**Sessment F **Bidg EMV** \$280,800 \$280,800 \$210,700 \$210,700 \$218,900 \$185,500 \$185,500 Tax Detail Hi **Total Tax & Special Assessment**	Tota EMV 00 \$457,6 00 \$457,6 00 \$346,2 00 \$294,0 00 \$255,0 00 \$255,0 0 \$131,7	00 00 00 00 00 00 00 00 00 00 00 00 00	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:11:47 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.